EARAROBEEIERT — 2 N— IBISH —F

2017898178 (H) 4mEFR#4H

R YA

[($57E] Fikb

‘ [Riz] &

‘ [REBE] — | Z (%) 12000 FHE

[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N « . NN&E= :10. ~ . . TFEZ2 (ER)
(lglial x1vam Ry Ry o2 e 1(1_0)6 15-13 [ 34.0| 83.8 | 4 (z_u:g) bt
g1 bT=EY B:EZLI T TI—L4 =e)
N == # o2 | FIEEZ 1:10.6 1-1 35.2(83.0 | 2 492 | @mHREE (FR)
]10 X437 bV 54.0 ) (+12) | ARSI
R:814%Yv MV B:757—H47 e
N S HhfE : - ERE— (ER)
3l5lg| VY= Ry i 2 o 1(.11/02.>7 9-8 34.7 ] 82.3 | 1 (4;34) e
LT RIA Y L—> BTEL—F A—L— - TviX> - Tp—LERSE
i N 4 2 | HHEES 1:10.9 5-4 35.2| 80.0 | 7 456 | BIERZ (RR)
A=V —F 54.0 (1 1/4) (g | W0 EFH-Ty—s—x.a=5
R:VZRB—IZXE— B:vRE2—tMIL—> BRES 4%
N . HIIEF :10. - . . ZEBX (ER)
24T 44X 4 2 B 1(710@9 14-13 34.5|80.4 | 6 (fg) e
RIXKRT—ILYF— BEXHY K B
. . 2 | IR 1:10.9 2-2 35.4|79.9 | 3 440 | BREZ (EX)
77A-X % 54.0 F) 42) | B HFETER-T (T2
f:Acclamation BT H—T411)— =e)
—: N FREHE :10. — . . HALE (FEX)
F4TRL Y b o2 2 e RN R e I bl e
R:F4—TTUTLF BIREUH ANET 7 — L
N — < YN : - EREE (EXR)
X JTIFIX i 2 RS 1(.11/12.)0 10-10 | 34.8| 79.2 | 10 (4_120) ol
LNn—ErYvy— B:IT7F4F7JMLZX CErEr e ]
< e N BEHF : — BRERFIZ (EXR)
SELTEA o2 By 11\17L§) 5-6 35.2| 78.9 | 12 (412) e
R:ECTAYY BUFIVINYT =i
i = B2 | MEEEX 1:11.2 7-7 35.3| 76.9 | 14 | 30 |=AE (RR)
100 11 1 J—F>HX7— %¢53.0 (1 1/4) (-2) il E I
L:wy)gdyr B:ZXJLyi FEX %Y K
L — i 2 | BRR 1:11.3 3-4 35.71 75.9 | 15 | 426 |BREFZ (FH)
EH 4| vTNE=Y 54.0 (1/2) 6) | FEE
R:ECTFAOVY BN TEYT RE FHMR
NN o2 | KOEHE 1:11.5 7-8 35.5| 73.8 | 9 460 | SHEGL (RR)
1217113 X)) —=—H—-T> 54.0 (1 1/4) (+6) W EFIR
R:vavrrhr7 B:ax/Lyiv EARKS
. . st 2 | JIERE 1:11.5 10-10  |35.2| 73.9 | 13 | 430 |EHB— (E=)
13(815) 7> 71> 54.0 E) Cp |TEETF
g/ vrTe BTH-T it e
S 2 | RIUR—ER 1:11. 10-1 A 73. 11 4 EEE— (RR)
M ER L VE S i 52 M i gy | %) wee
L:Iqy>7RAY BIAYA—N FERS
B 2 | FREH 1.5 10-10 [ 35.4| 73.8 | 8 432 | EAARGE= (ER)
15 2 AZ2—=T7A41) X 54.0 (F) 46) HimEF?ockRacing
SANXRTNG BITIFAT i@ @
@ 21 L
£ 46.8-35.2
NA>ZA L | 12.5-11.3-11.6-11.8-11.4-12.0
® 1—F—@EBIERL
13—7F-
Pal=5F=
Jo=5r= 10,11(4,12) (5,7) (1,13)8(2,6,9,15)3,14
43—+ — 10(11,12) (4,5)7,1(8,13) (2,6,15) (3,9,14)
[ N5
= 14 790H 714K 10-14 590M e E 6-8 900M JEE 8-10-14 1,750
B B 14 210H 8-14 490M B E 10-14 1,730 3EH 14-10-8 12,000M
10 1509 8-10 340M B H 14-10 3,420
8 140/

ABICOVWTRDTEEERROODE. TR LIV,




